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20245 [E FE—HI A FFIBEEHER A R HI B mE i a5 K S B Sx

Az = B PL 4 FR "2 R | TS |BRARS| S8t | Hs &1
1 se 3 sEilie S U e 5’4 B Bt
1 SE SRR S HUm HAH 5’4 B B
1 SE SIS S 0T ABERE Li] 82. 78 82. 78 1 HENFE
1 SE 3 sS4 5 HUh 2= [l I 80. 08 80. 08 2 BEANE
1 se 3 sEilie S U FE SR 4 79. 34 79. 34 3

RALF S &I PL 4 FR w4z MR | TS |BRARS| Bgt | Ha &1E
2 AR S R B AT T HLAE 5 79. 12 79. 12 1 HEANEZ
2 AL S B AT T R % | 78.60 78. 60 2

ML RS L4 FR w4 Al | miRES | ERERG| Bg | HS #1E
3 SR A B AT U Hir K 5’y 85. 86 85. 86 1 N
3 SR A BB AT U 7 5’4 85. 38 85. 38 2 N2
3 SR A B AT U M Es 85. 04 85. 04 3 HENE
3 LR B B AT U 2= RIE 5’y 81. 64 81. 64 4
3 S Rh 2 A B AT U e LS 79. 90 79. 90 5
3 G2 A B AT 0T Xl 4 79. 74 79. 74 6
3 SR A BT U fit; A 5’4 79. 74 79. 74 6
3 SR A B AT U WERHE 3 78. 96 78. 96 8
3 SR A BB AT U =g 5’4 78.96 78. 96 8
3 SR A B BT U BRIk T L: 78. 92 78. 92 10
3 LR 2 B B AT U A 5’y 71.08 71.08 11

Az = I PL 4 FR w4z R | ARG |BRARS| Bgt | Ha &1E
4 BB 22 B T AT EUT (1) Fiti 55 75 5’4 i R
4 BBV 2E B B AR EUT (D) REX © R B
4 BB 22 B T AR EUT (1) BT 5 e i
4 Bk 22 B LA EUT (1D S 5’q 85. 20 85. 20 1 HEANE
4 By 22 B LA EUT (1D Jisye) 5'q 84. 86 84. 86 2 HEANEZ
4 B k22 B TARZUT (1D AL 5’q 82. 76 82. 76 3 HEANE
4 B Y22 B TN (1D R JIE 5’q 82. 26 82. 26 4
4 Bk 22 B LA EUT (1D JE SCH 5°q 80. 36 80. 36 5
4 B k22 B LA ZUT (1D MRS TT 4 | 79.60 79. 60 6
4 Bk 22 B LA EUT (1D D Ak 5°q 77.98 77.98 7
4 BH ML 2= B AT (1) iléigﬁ 5’8 77. 40 77. 40 8
4 BB 22 B BATHUT (1) FEFE 5’y 75. 30 75. 30 9

RALF S &I PL 4 FR w4z MR | TS |BRARS| Bgt | Ha &1E
5 Bk 22 B LA EUT (2) PR 5| 78.30 78. 30 1 HEAEZ
5 BBk 22 B LA EUT (2) il 4 | 78.00 78. 00 2

ML S L4 FR w4 Al | miRES | ERERG| Bg | HS #iE
6 A E =B EAEZT (1D T A 5 81.98 81.98 1 HENE
6 AMHE EHEAERUT (D) AT 5’4 81. 30 81. 30 2
6 A E 2B EAEZT (1D ¥4 5’4 74. 56 74. 56 3

RALF S & PL 4% FR w4z MR | HARS | BRARS| Bgt | HB &Z1E
7 ASCHE AL EUT (2) JEE ] it © R i
7 ASCHE AL EUT (2) Dt 5’e 83. 20 83. 20 1 HENFE
7 A E 2 AT (2) ECE 5°q 77.50 77. 50 2




RALF S I PL 4% FR w4z MR | TS | BRARS| Bgt | Ha &1E
8 BRESEE TR TAEZIT (1D O35 5 | 51.80 51. 80 1
8 BRESEE TR TAEZIT (1D 7 % ] 39.90 39. 90 2
MALFS I HL 4% FR w4 Al | miRES [ ERERG| Bg | HS #iE
10 B2 ARG EN (D =E | 41.87 41.87 1
10 Br AR EALHUE (D R % | 37.50 37.50 2
Az = &I PL 4% FR w4z R | HARS |BRARS| Bgt | Ha &1E
11 B EAREF LA HUT (2) A PR ' i R
11 B2 ARZEGE AR HN (2) &ifE 4 | 42.87 49. 87 1
11 B2 ARZEGE AR HIN (2) =5 B B | 42.48 49. 48 2
11 B2 AR 2B LA HN (2) g 5 | 38.00 38. 00 3
11 B2 ARZEG AR HIN (2) PN B ] 37.88 37.88 4
11 B2 ARG AR HT (2) THER % | 37.58 37.58 5
11 B2 ARZEGE AR HIN (2) XU K 15 4| 34.71 34. 71 6
ML S L 4% FR w4 A | miES | ERERG| Bg | HS #iE
12 ASCHE B AT HUT (3) MER 5’y B Bt
12 A E =B EAEZUT (3D BEIK 5’ 85. 67 85. 67 1 BEANE
ML S L 4% FR w4 A | miES | ERERG| Bg | HS #iE
13 HEBARAEEEHOLTE REIK 37 o] 41.32 41.32 1
13 HEFARASELEHLTH TRA 5] 36.20 36. 20 2
13 HEBARAEEEH LTS TRl %] 32.38 32. 38 3
ML S L4 FR w4 Al | miRES | ERERG| Bg | HS #iE
14 LS R (D) FH i 52 5 B 70 B
14 LS R (D 2T 5 B 69 R
14 LS R (D) A BREE 5 B 63 R
14 LS (D AkAE 5 B 61 R
14 LS R (D F% 5 80. 72 74 78. 70 1 ENE A
14 THESR (1) Vo LR 3 84. 46 62 77.72 2 AL
14 LS R (D X1 [H 5 79. 98 67 76. 09 3 HENE N
14 LS R (D) WER ) 79.78 61 74. 15 4 HENE
14 LS A (D Eidl ES 78. 12 61 72. 98 5
14 LS R (D) FRR 5 76. 94 63 72.76 6
14 LS (D KRE =5 73. 80 66 71. 46 7
14 LS R (D) B e = 73. 38 66 71. 17 8
14 ERHE A (D wH kS 74. 22 61 70. 25 9
RALF S &I PL 4 FR w4z MR | TS |BRARS| Bgt | Ha &1E
15 LIPS R (2) IR 4 s 76 i
15 LIPS (2) s 5’4 i 70 R
15 LIPS R (2) JH TR 2 4 s 68 [
15 LIPS R (2) KEH 5’q 81.96 69 78. 07 1 HEANE
15 LIPS (2) sEN 5’q 81. 62 67 77. 23 2 HEANEZ
15 LIPS R (2) HE 5’q 78. 44 74 77. 11 3 HEANER
15 LIPS R (2) YR = 5’q 78.90 71 76. 53 4 HEANE
15 LIPS R (2) P 5°q 76. 06 73 75. 14 5
15 LIPS (2) FE4 i 77. 64 68 74. 75 6
15 LIPS R (2) EXk 5'q 76. 44 69 74. 21 7
15 LIPS R (2) T 5’q 75. 64 69 73. 65 8
15 LIPS (2) AT T 5’q 73. 64 70 72.55 9




RALFS LA TR "4 MR | TS | B RS SRSt | HB &1E
16 LIPS R (3 [ Ay 5 84. 16 68 79. 31 1 HENE
16 LA F R (3 HEE 4 83. 16 66 78.01 2 HEANF
16 LIPS R (3 PE2= 5 80. 74 68 76.92 3 HENE
16 LIPS R (3 ¥l 5 81. 90 62 75.93 4
16 LS R (3 P Ll © 79. 68 64 74.98 5
16 LIPS R (3 EATAG LE 77.34 65 73. 64 6
16 LS R (3 RAEA 3 76. 96 62 72. 47 7
16 LIPS R (3 IR 5 74. 80 65 71.86 8
16 LR F R (3 #= L 3 71.12 64 68. 98 9

RAOLF 5 = L4 R w4 A | RS | RS Sgt | HA &iE
17 LR S R (D BLIR 5 86. 74 62 79. 32 1 HENER
17 LR S (D MG 4 | 82.66 62 76. 46 2 HENFE
17 LR SH (D k& s 81.92 63 76. 24 3 kA%
17 LIS 5 (4) A ghi & 76. 68 69 74.38 4
17 LR SH (D [ 98 I 78. 30 63 73.71 5
17 LR S (D FHE 5’y 77.58 63 73.21 6
17 LR S (D & 7 75. 86 67 73. 20 7
17 TR SH (D Bl i 76.92 62 72. 44 8
17 LR S (D =55 5’y 73.88 69 792. 42 9
17 TP S R (D W 1AM & 72. 62 71 72.13 10
17 RS A (D HAE @ 75. 18 64 71.83 11
17 LR SH (D I I 73.52 62 70. 06 12
17 LR S (D U 5’y 71. 24 62 68. 47 13

RALFS LA TR "4 MR | TS | B RS SRSt | HB &1E
18 WRIPAZE CERDBAZE) TH K 5’ 77.76 68 74.83 1 HNE
18 WRINE CERBAZE) TF BN E 5’ 76. 60 63 72.52 2
18 WRIPAZE CERBAZE) TH AL 5’ 73.06 63 70. 04 3
18 WRIPAZE CERBAZE) TH W UK A 5’ 70. 76 64 68. 73 4

RAOLF 5 = L4 R w4 A | HARS |BRARS| Sgt | Ha #iE
19 YR T ESES 4 | 83.38 75 80. 87 1 HEAFE
19 BRI AT e s 5 80. 84 67 76. 69 2 HENFE
19 RT3 Kk S 76. 44 72 75. 11 3
19 H SR T B g g 4 75. 82 67 73.17 4
19 H SR T B R 7R 5 73.92 68 72.14 5
19 BRI AT 5 [ I 71.74 70 71. 22 6
19 AR T 0 i By i 71.84 68 70. 69 7




